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Тест жұмысы

1) Көпмүшені көбейткіштерге жікте: с3-d3

А) 0 В) (c+d)(c2-cd-d2) 

С) (c+d)(c2+cd+d2) Д)(c-d)(c2+cd+d2)

2) 4х3+4 көпмүшесінің мәнін тап х=1

А) 8 В) 9 С)10 Д)11

3) Көбейтуді орында : (х-2)(х2+2х+4)

А) x3-8 В) x-8 С) x3+8 Д) x3+4
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С) (7c+1)(49-7с +1) Д) (7c-1)(49-7с +1) 
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Тест жұмысы

1) Көпмүшені көбейткіштерге жікте: с3-d3

А) 0 В) (c+d)(c2-cd-d2) 

С) (c+d)(c2+cd+d2) Д)(c-d)(c2+cd+d2)
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3) Көбейтуді орында : (х-2)(х2+2х+4)

А) x3-8 В) x-8 С) x3+8 Д) x3+4

4) Көпмүшені көбейткіштерге жікте: 343с3 +1

А)(7c+1)(49-7с- 1) В) (7c+1)(49-7с +1) 

С) (7c+1)(49-7с +1) Д) (7c-1)(49-7с +1) 
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